= A HI & O (&)
s 3 7 A cel | = M 2 Hl 24| 4 Hl st 9 Hl
Ct ot = M| & It |l ] E D3 M

1. XEXHCH
AL &2+ Z X E 90042t H 1 32,400| 32,400 32,400
N ECINON 0.5m pJ 1 23,400 23,400 23,400
& 50cm N 1 5,400 5,400 5,400
e 61,200 61,200

2. S Akt
Z3SHAl 301 CAN | 0.12 25,000| 3,000 3,000
g o7 ol 0.55 123,074 67,691 67,691
28 27 ol 0.32 102,628 32,841 32,841
& M4l NE L 2H2 % 4 100,532 4,021 4,021
STE= NE 24|29 % 3 100,532 3,016 3,016
En | 7,021 100,532 3,016/ 110,569
&= S Al Al 171,769




a2 12000
= A HI & O (&)
s 3 7 A el | == M 2 Hl 24| 4 Hl st 9 Hl
Ct ot = M| & It |l ] E D3 M

1. XEXHCH
AL &H2+3 X| o 120042 H 1 63,000/ 63,000 63,000
3| EBEALX] 0.7m H 1 63,000| 63,000 63,000
& 70cm N 1 7,200 7,200 7,200
e 133,200 133,200

2. S Akt
Z3SHAl 301 CAN | 0.12 25,000| 3,000 3,000
g o7 ol 0.55 123,074 67,691 67,691
28 27 ol 0.32 102,628 32,841 32,841
& M4l NE L 2H2 % 4 100,532 4,021 4,021
STE= NE 24|29 % 3 100,532 3,016 3,016
En | 7,021 100,532 3,016/ 110,569
&= 2 A8l A 243,769




= A HI & O (&)
s 3 7 A cel | = M 2 Hl 24| 4 Hl st 9 Hl
Ct ot = M| & It |l ] E D3 M

1. XEXHCH
AL &H2+3 X| o 6002 & H 1 32,400| 32,400 32,400
N ECINON 0.5m pJ 1 23,400 23,400 23,400
& 50cm N 1 5,400 5,400 5,400
e 61,200 61,200

2. S Akt
Z3SHAl 301 CAN | 0.12 25,000| 3,000 3,000
g o7 ol 0.55 123,074 67,691 67,691
28 27 ol 0.32 102,628 32,841 32,841
& M4l NE L 2H2 % 4 100,532 4,021 4,021
STE= NE 24|29 % 3 100,532 3,016 3,016
En | 7,021 100,532 3,016/ 110,569
&= S Al Al 171,769




= A HI & O (&)
s 3 7 A el | == M 2 Hl 24| 4 Hl st 9 Hl
Ct ot = M| & It |l ] E D3 M

1. XEXHCH
AL &2+ Z X E 9002 & H 1 63,000/ 63,000 63,000
3| EBEALX] 0.7m H 1 36,000| 63,000 63,000
& 70cm N 1 7,200 7,200 7,200
e 133,200 133,200

2. S Akt
Z3SHAl 301 CAN | 0.12 25,000| 3,000 3,000
g o7 ol 0.55 123,074 67,691 67,691
28 27 ol 0.32 102,628 32,841 32,841
& M4l NE L 2H2 % 4 100,532 4,021 4,021
STE= NE 24|29 % 3 100,532 3,016 3,016
En | 7,021 100,532 3,016/ 110,569
&= 2 A8l A 243,769




22 6000

= A HI & O (&)
s 3 7 A cel | = M 2 Hl 24| 4 Hl st 9 Hl
Ct ot = M| & It |l ] E D3 M

1. XEXHCH
AL &2+ Z X E 60022t N 1 64,800| 64,800 64,800
N ECINON 0.5m pJ 1 42,120 42,120 42,120
& 50cm N 1 9,720 9,720 9,720
e 116,640 116,640

2. S Akt
Z3SHAl 301 CAN | 0.12 25,000| 3,000 3,000
g o7 ol 0.55 123,074 67,691 67,691
28 27 ol 0.32 102,628 32,841 32,841
& M4l NE L 2H2 % 4 100,532 4,021 4,021
STE= NE 24|29 % 3 100,532 3,016 3,016
En | 7,021 100,532 3,016/ 110,569
&= S Al Al 227,209




22 9000

= A HI & O (&)
s 3 7 A cel | = M 2 Hl 24| 4 Hl st 9 Hl
Ct ot = M| & It |l ] E D3 M

1. XEXHCH
AL &2+ Z X E 9002 N 1 93,000 93,000 93,000
3| EBEALX] 0.7m H 1 56,000| 56,000 56,000
& 70cm N 1 9,720 9,720 9,720
e | 158,720 158,720

2. S Akt
Z3SHAl 301 CAN | 0.12 25,000| 3,000 3,000
g o7 ol 0.55 123,074 67,691 67,691
28 27 ol 0.32 102,628 32,841 32,841
& M4l NE L 2H2 % 4 100,532 4,021 4,021
STE= NE 24|29 % 3 100,532 3,016 3,016
En | 7,021 100,532 3,016/ 110,569
&= 2 A8l A 269,289
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